78L05

3-Terminal positive voltage regulator

5V
e Suitable for TTL, DTL, HTL, C-MOS, Power Supply

e Internal Short-Circuit Current Limiting
¢ Internal Thermal Overload Protection
e Maximum Output Current of 150 mA (T;= 25 °C)

« Available in the Plastic TO-92 Package 12,

1. Output 2. Common 3. Input

Absolute Maximum Ratings (T, = 25 °C) T0-92 Plastic Package

Parameter Symbol Rating Unit
Input Voltage VN 35 \%
Power Dissipation Piot 800 mwW
Operating Temperature Topr -30 to +75 °C
Storage Temperature Range Ts -55 to +150 °C

Electrical Characteristics (Unless otherwise specified, Vin= 10V, lout = 40 mA, Ciy = 0.33 pF, Cour= 0.1 uF, T;= 25 °C)

Parameter Symbol Test Condition Min. | Typ. | Max. | Unit
Output Voltage Vour 4.8 5.0 5.2 \
Input Regulation Reg.line [7V<Vn<L20V - 55 150 mV
8V <Vy<20V - 45 100
Load Regulation Reg. load |1 mA<loyr< 100 mA - 11 60 mV
1 MA<Iloyr<40 mA - 5.0 30
Output Voltage Vout 7V<VnNL20V 4.75 - 5.25 \Y
1 mA < loyr<40mA
Vour Vin=10V 4.75 - 5.25 \Y,
TmMA<loyr< 70 mA
Quiescent Current Is - 3.1 6 mA
Quiescent Current With line Aly 8V<<VnL20V - - 1.5 mA
Change With load 1 mMA<Ilour<40 mA - - 0.1
Output Noise Voltage T, =25°C,
Vo - 40 - uv
10 Hz <f< 100 KHz
Ripple Rejection RR :3 V'ISZS/II:? 18V, T = 25°C 41 49 i 4B
Dropout Voltage | Vin-Vourl | Tj=25°C - 1.7 - Vv
Averégé Temperature TCu lout= 5 mMA ] 06 ] VG
Coefficient of Output Voltage




78L05

Maximum Average Power Peak Output Current Dropout Voltage
Dissipation o — 25
avoyy = 100mv = l l I
i 2 11
I 20 lout = 70 mA
5.0 i 300 Ti=0°C E -
£ ] = I g M b 1oy = 80 mA
= 0.125" LEAD LENGTH = Ty=25°C ~N A g
2 FROM PC BDARD E [[ ! S~ = lour = 1.4mA [
£ |, RMITHTZCW HEAT SINK 3 , ~ 5 10
g - 3 = | — £
2 = 150°C P~ 5
=] G ] >
x g5 f04" LEAD LENGT 5 100 [P~ o |
g FROM PC BOARD 8 5 08 :':,"PD“T;“"":I'"""S
=] F IR b~ out * cAal Vour
s REE MR i Leap LeneTH 2 Ll
FROM PC BOARD
15 1
o [FREEAIR 3 s 10 18 2w 3 3 ] 5 50 100 125
g JUNCTION TEMPERATURE (°C
0 15 30 L] 60 5 INPUT-QUTPUT DIFFERENTIAL (V) 0 CUCLY,
AMBIENT TEMPERATURE {°C}
Ripple Rejection Output Impedance Quiescent Current
100 10 ¢ . a0
F v = 10V
50 [ Vour=5v .
-~ B0 s t . < 135
2 = r lout =48 mA ] .|
z & Ta* 2‘5“: Cout * 0, =] b
£ & ] g 32
g h £ ¥ £ . =
2 g >, 5
x4 = v 4 =S 1 ]
= > 0. W
g You ™10V £ g 2
T 0 out = =4 5 24 Vour =5V
lour =40 mA / a lout =40 mA
Ta =25°C 22 T, - 25°C 1
0 Labi 1 11 o 28 Ty
10 100 1 10k 100k 10 100 1% 10k 100K ™ 5 10 15 20 25 30
FREQUENCY (Hz) FREQUENCY (Hz) INPUT VOLTAGE {v)
Quiescent Current
34 T T
Viy = 10V
- EE Vour = 5V
T loyy =40 mA ]
- 1
£
«e 30
-3
3 28
E o
=
2 u
w
ERRT
25
24

0 25 5 75 100 125 150
JUNCTION TEMPERATURE (*C)



